Unit 12 - Check-up

1.9+ 5 = 3.5+ 10 = 5.12-5 =

+/5|5 | |- 8 2]8] | |+] |2 _ €08 0
| + 6 7

half past five | quarter to two |quarter past ten| three o’clock | half past four

score [l

i n Problems... Tick (v) the correct answer.

| 1. Three friends shared 12 sweets. L. What shape is this?
How many did each get? a triangle b rectangle
[al8 [bj4& [cl6 ¢ semicircle

2. What is missing? 5 + 1 4 + 3 5. Molly is 2 cm taller than Jenny.

laf = b= Ic| = Jenny is 104 cm, so Molly is

3. How much is twenty-three more than (a] 100 cm [b] 102 cm 106 cm

thirty? (a/33 |b/43 [c|53 m:

Work it out. j




